ShapeT —4Y &=

T—HEHM 20205 (HF025) 65 EAO0DHH
SRXA Y Y afftiE1 OFDDMHOXE UMK T100mXwyal &S, ) CEICE
LT —9%, I500mIEUED25@NDOX Y Y 2aTEHLHL, PIMXyYICETH®Z
EED (BBXy Y 1B HmnE)
A e g 0 — T !
F-SEE / :hf\\: i
\Gnoarts
LR
REAEN BUBTEREASBIK
IVSEE BUMDITHXIETREI D
FEIRZR JGD2000, TP/ B, L), H
B
BHESH BHES TR @
Polygon BLRIGEHUEDADZRBIRLIZ1I OOmMA Yo i3] 50,393
FEREY
BHESH BHES Z =ly)
gid J—-F&ES B —
mesh Xy Y 1BES X7 -
mwsum wAD 35 A ha
msum SHHRAD = A ha
wsum ZMHRAD 35 A/ ha
me5 M6 5mDAD = AN/ha
moe6 M6 6 mDAD = A/ha
me7 M6 7THmDAD = A/ha
me8 BM6 8mDAD = AN/ha
me9 M6 9mDAD = A/ha
m70 ST OmDAD = A/ha
m71 ST 1 mDOAD = A/ha
m72 ST 2mDOAD = A/ha
m73 ST 3mDAD = A/ha
m74 BT 4FEDAO =M A/ ha
m75 ST 5®mDAD =] A/ha
m76 ST 6 mDAD = AN/ha
m77 ST 7THEDOAD = Aha
m78 ST 8mDAD = Aha
m79 ST OmDAD = A/ha




m80 SHESOmDAD = A/ ha
m81 SHE81mDAD = A/ ha
m82 SHE8 2mNDAD = A ha
m83 SH8 3mDAD = A ha
m84 U8 4mDAD = A/ ha
m85 SHEE5mDAD = A ha
m86 U 6mMNDAD = A/ ha
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m90 B OBmULEDAD £ A/ ha
w65 M6 5mNAO £ A/ ha
w66 M6 6mNDAD £ A/ ha
woe7 M6 7TmDAD £ A/ ha
woe8 M6 8mNDAD £ A/ ha
w69 M6 9mMDAD £ A/ ha
w70 M7 OmDAD £ A/ ha
w71 M7 1 mDAD £ A/ ha
w72 M7 2mDAO £ A/ ha
w73 M7 3mDAD £ A/ ha
w74 a7 4mDAD £ A/ ha
w75 M7 5mDAO £ A/ ha
w76 M7 6mDAD £ A/ ha
w77 a7 7TEDAD £ A/ ha
w78 a7 8mNDAD £ A/ ha
w79 M7 9mMDAD £ A/ ha
w80 M8 OmDAD £ A/ ha
w81 M8 1 mDAD £ A/ ha
w82 M8 2mNDAD £ A/ ha
w83 M8 3mMNDAD £ A/ ha
w84 M8 4mNDAO £ A/ ha
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w86 M8 6mNDAD £ A/ ha
w87 T8 7THmOAD = A/ ha
w88 T8 8mMDAD 35 A/ ha
w89 M8 9mDAD 35 A/ ha
w90 MO OmUEDAD 35 A ha
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